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UNIT 1
¥ EX

Text

EFERRR, WFISE BOTRIEEE, S -LEST ).

T, BEAT RS DUE R 4,
%#18: equal; neither ... nor; there be...;
do (something) with(something)

BB 1) ﬂ':;;bii?} do 2) like+to V
3) like+V-ing 4) like fE4rid
5) with % 7" /”

S.S.

IR ZFAD R, BE IE 85 973X 240 1 R 5%

Int.

HUE MR =R T, R,

L.C

W RE A, A A TRECNE,

R. M. (A)

LR PLAF XN A, & 117 RS, 5248 4775 AT,

Text

1. For example, students can do their mathematics with

W.S. — Word Study

S.S.  — Structure Study
Int. — Review of Intonation
L.C. — Listening Comprehension

R.M. — Reading Material

a computer.




1) do fE“%31"f%, A4 T study, learn, R T HiE, Bi:
I'll do my lessons tonight.
Are you doing physics at school?
2) mathematics’ "] HIfE A g S %%, Bl:
His mathematics is (& are) not so good.
. The computer writes questions on the screens in
front of the students, and the students answer on
their keyboards
1) screens: jx B 5%, #on— G THENL AT DAE B8 TA
BB,
2) in front of & in the front of [yIX %i:
in front of F R“fE...7ji",in the front of
PR AL RITERT, PR A KA, B
There is a screen in front of each student.
FEA 2B R AT — AN R B
Some students like to sit in the front of the
classroom.
H B R AL TR B AR B
. This is part of a lesson with a girl.
part of 5 a part of fy[X 7.
PEEZE EWAX M, part of RILLZ— LA L, thil
PAR—HLLTF; a part of @HER—ELLT,
(a) part of JEim Pty Aid S AAELZIER, HiE3hiA
{E$ b BT IE—3, B
(A) part of the work is done.
(A) part of them are good.
(writing on screen), (pressing buttons), (after think-

ing) #H5 ARSI SHTE RYIME L XHEEH



V-ing BX, WILEEARIE,

. Hello!.

Hello [3#7; Hullo [3%]
(Two x plus four y equals eight.)

1) Two z plus four y &—AREX, A1k, B

BB IE 3hiF A B A
2) equal: &#yzhinl, WeT R 1, G
Two z plus four y equals eight.
Two z plus four y is equal to eight.
(Two z minus four y equals nought. )

nought [35]; zero [3] AR B LR A MMAT %"

M oh FRE 0k i

. The computer can give Mary the right lesson for

her, neither too fast, nor too slow.
1) give lessons (i a lesson) F R“IZiR”; give lessons
(8 a lesson) in FER“F...087, fAl:
John gives us lessons in mathematics.
Mr Wang is giving students a lesson in physics.
2) the right lesson for her ®/LLBEAZZH the lesson
right for her,
3) neither ..., nor ... 3}%l%id, neither too fast, nor
too slow #H—Hii8H right FHIN%.

. And the computer can do this with many students

at the same time.

1) Aan[#f# A, And the computer can give the
right lessons to many students at the same
time.

2) at ... time ZRIFLAMAFER I, 1A%, HR Kb

e 3 .



10.

& RRA, B
at any time TS, HRkt
at that time 7EHPRT
at the right time 7£38 24
at one time %43, LARIA I

Students can also learn a foreign language with a

computer.

learn 5 study X 5:

1) learn FoR“% 3] 57, @HE ARS8,
SN L b KRG AR TS, Bil:

He learns very quickly.
He is learning English at a language school.
Have you learnt your lessons?

2) study FIR“¥, B3 BT, —BRISLLERIEA RS M
WO CEAMRAEREFE, EAR), DRBMAgRAGE
5, i

John studies very hard.
They studied English at middle school.
We are going to study this problem in detail.

3) learn J5A[ to V 3¢ V-ing, Fm“FEIEFMEAB
8157, i study JFRIARER to V K V-ing, B

The boy will soon learn to swim.
We are going to learn swimming.

4) FR“m - EX ()", M learn (...) from”, T
AHEA study, Bil:

He is learning English from an English teacher.
We should learn from Lei Feng.



fomad
.

[S\]

S.S.

like FRBHEZIFH, JGEER to V R V-ing #RW[LA, i
He likes to swim.
He likes swimming.

. like R —BHZLFHS, RATER to V, AWER V-ing, §i:

I should like to talk with you now.

Xt FRIB AR, K rikA—, (£ Randolph Quirk
299 Néafty A Grammar of Contemporary English —
45eh, 52 7 By 76 Applied Linguistics: Principles and
Techniques — 45 1, Shirley L. Stryker 325k 10 bk
AR WfE D. Waldo Clarke Z£pq3% 5 The Ground
Work of English Sentence Structure —A5H, FH#T 5
AR, ATRE B TRBE R EIE B 4 15k bfi il
&, «ﬁﬂ]ﬁéi 5 Mk A4 Y, BN
1) SV 2) SVC 3) SVO
4) SVO,0; 5) SVOC
il B AR R B R4, A EIERIRIE, B RE
A ERBREDEH YV, Wt EEIFIESRAEN K
AR ahiang ) 84 2 #:. SV, SVC; E#ahianymiy
A 3 fh. SVO, SVO,;04 SVOC,
{EF SIS LR, Adverbial Modifiers 4 F 524 ;5775
L, T4 w0, fi:

The book is on the table.

He has put the book on the table.
4) e on the table HARZRIE, HEATERA, HiL,



Quirk % A\ &%l «<4RFIFEEEL —Fh, 5lFH SVA
1 SVOA MR, AHSMEFLbrlk, A,
4, —IESBIE SVC WEIdH V R E R DIASRE,
CHRAKRIE, ABHHRV AIFIE CAHMRIE BE2
B, f1 SVOC ity C 48R —#; EF C 2EIFEHEIEE
R FIBARIE, RIS R AT T RPE,
Int.

FAR— AT RN, B ERAELL R EH i B A R, K
RNy BRE, RIGA RIERRIE, FTLA, RS S AE RS
e IR, B G i bl AT TR AR NG O, B 1k % R
el
L.C.

(The listening passage)

Mary Is Wrong

Mary is doing her mathematics with a computer. The
computer gives Mary this problem:
Three x plus three y equals nine.
Three « minus three y equals three.
After thinking, Mary answers on the keyboard:
x equals one
y equals. three.
The computer teacher then says: “No. Try again.”

R. M.
(A)

1. Today machines can play chess and do mathcmatical

s 6

.
S



2.

3.

problems.
do Fi¥4F solve & X, AT OiEH, FEIE ¥ H solve
problems.
In most cases, they are just metal or plastic boxes.
1) in ... case(s) ZEFLAMATEZAIR, RIAE, @M
fib 3 R4, Bl
in any case HEEAERT
in that case EBFERT
in the given case ZELEMERT
2) just #124F only,
3) plastic Y plastics pyX 5l:

a) plastic: f§ &iF I, R BB GEIEED, REA
Al I, R R,

b) plastics; &id], Fn “WRHE", “WEHELR”, (BFEH
TE“¥BR (FRIECED i 24 plastics AfERIEN, 1
Bl HE B BAER R R, IBE R
W P 8. 523 i1A, fil:

This aeroplane engine was made mostly of
plastics.
Plastics are man-made materials.
Plastics is a branch of science.
24 plastic FifEfdh g, HIEER LY, A
WA A B, il
The first man-made’ plastic was made over
one hundred years ago.
Plastic of the first type are hard.
They have two windows and a few krobs or push-
buttons here and there.



1) knobs H3hEH, i@ % ABIEH, EF HF R, Hi.
Turn the knob, please.
2) pushbutton #5iZH, "LAZRIER, WA LARH LY
RE, @2 TR, Fl:
Press that pushbutton, please.
. You press a button and the first question will
appear in one of the windows.
You press the button again and you will get the
correct answer.
X R A F- AT AR AR g
If you press a button, the first question will appear
in one of the windows.
If you press the button again, you will get the
correct answer.
. You can see the computer’s answer and your own
answer at the same time.
own ¥ HLEY ERIFEE, NIRIES, B
I saw it with my own eyes.
. When the second question appears, your answer to
the first question goes out of sight.
1) answer {E&EM, £ Ht--MEIE"M, JFiEEEkK
Iria to, i
Your answer to the question is wrong.
Have you had an answer to the letter?
2) out of ZHEAI, EXE “in, into” MK, Hi:
He walked out of the room. ‘
He walked into the room.
Fish live in water.

R o



Fish cannot live out of water.

(B)

. The computers have all the information about traf-
fic, etc.
information %A HE ¥, J5HE 7 /rid about,on, f§i:

Can you give any information on (& about) this
subject?

. If a policeman finds a car in the country and there
is nobody in it or near it, a computer can help him.
the country, 3% #17 country Fi1iE & i the % JH, £/~
“ReFH S HT, 2T the countryside, fi;

They like to live in cities, but I like to live in
the country. ‘

. Yes, somebody many miles away lost it two weeks
ago.
somebody [[1* i RABREENX, ALK some
body.

. In the future we are going to use computers for
almost everything almost every day.
every day & everyday f)[x %l . .
every day ARl thiaA4l, Fn“E—RK";everyday &ER
), AR“EHMN, ZH&RHIEARR, F:

We study English every day.
We are going to learn everyday English.

(RIFFATOIE, TH.
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Text
HENHE

AU IR AT ENLEE, Bldn, HAESTUHRT RS
Bt WEIERAERPREE ESHWE, $AERE ERZ
oF:iN '

THEL—NTLET LH—2RABI AR,

R (EREESHON Rt aarr$5 501
Z % (EFiEHD) S, 236 5,
HEHL: W R AHiXos .
20+4y=8
20—4y=0
& % (BEFR) z=1; y=2
HHEHL: AR, FR—8.
& e ox=2; y=1
PRBL: 2T, HhuN, A7 BIEIEH -

HRHLA RS, BIICAZHE—k LR T. HEAA
sy M5 s AR, BEA KR, WA KB, HHEILERERIR A RS %
e Eig,

) el TR ALE T IAMER, PRV LIEFIR, &
R WREEORIC 5 1A 4 M IE# A,
WELHLB E 3 A, KB 50FE SR b T B P Z .

(A)
¥R
AR, HLEs & THGL KB, MLEE AR BT, XL
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